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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
TorS fHAIRRe PRetarpiR s foran

(@) Who propounded the theory of
cumulative causation?

Cumulative causation SGHR TERS
- ?
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Define large-scale industries.
TR TomieR e famn |

Give the meaning of capital-intensive
technique.

Toe-fARY PR o o o

Mention any one disadvantage of per
capita income as an indicator of
economic development.

A SreR B Rt WA W
R @ ot =R Soay w4

State any one
development.

RPN R It B TR

cause of under-

Almost all underdeveloped countries
have a dualistic economy.

. (Write True or False)
U TR WS (PR 7 05 oS

M|
(/& &1 w7y o)
( Continued )

2.
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Who propounded the theory of
development with unlimited supply of
labour?

M GHN @ IS SmEe TGN AT
&N 7

(9

Give the meaning of capitalist surplus.
e e e o 1

() Name any one sector suitable for
labour-intensive technique.

AR @PFR I Ty ve dftx am
o

() Write any one significance of agriculture
in the development process of an
economy.

93 0P T afemre IRveT R @ @b
Ol forar o

()

Answer the following questions :

T fut eprrze B foran

(a) Write two differences  between
large-scale industry and small-scale
industry.

RR-TER T EF FE-TEAR SHR TE_
To1 “nefF foran 1

2x5=10
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(b) Define economic growth.
St e e fam o

{c) What are the two sectors of the model
of unlimited supply of labour?

AR S5 Qe e 41 30 1 R %2

(d) Mention any two difficulties of
measuring economic development in
developing countries.

Tame orre wdtafes Bmmm R R @
o1 SRy T 70

(e} Give any two points of criticism against
the concept of balanced growth.

e e Reea R @A 4o smemon
forma

3. Answer any four of the following questions :
S5x4=20
TS fi 2T R e vt e o

(a) Explain the meaning of forward
linkage and backward linkage with
examples.

TR S WIS e W
FAE Y I 9| :
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(b)

(c)

(d

(e)
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Argue the case for labour-intensive
technique in a developing economy.

Tagee SRR IR - @R AorEe
e orysan

“Growth is quantitative and
development is qualitative.” Briefly
explain the statement.

‘ofty ARMAe R T 1S 1 FUEK
BT TRM F0

Describe the concept of human
development index.

T S [ qaaE 3ef fan

Briefly explain the concept of social
overhead capital.

- JFNER ARACH FRF M F |

Write a brief note on the sources of
econgmic growth.

qRART YRR BRI e e B 5y G
form
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4. Answer any four of the following questions :

10x4=40
7S fa e R e oifRbR s fora
(a) Explain the various indicators of
development.
S RiSw ffieeiz o 1 |

(b) “Agriculture and industry  are
complementary to each other.” Explain.
‘IR uF Sm T AR
I

() Explain how far the theory of
unbalanced growth is applicable to
developing economy.

PREe TR Swh e W@ IR
R ercare =, mm #4411

(d) Explain the views of Prof. Nurkse on
the theory of balanced growth.

oS R TGS ST AR FRe N
91

(e) Give a comparative analysis of capital-
intensive  technique and labour-
intensive technique.

TA-FRE e o m-ART EreR T
TEETE ROET SeRzemy |
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Critically discuss the role of ‘backwash
effect’ and ‘spread effect’ for rising
inequalities as shown in Myrdal’s
theory.

fiere Og° (SA Wl el IR
OPOREFET ART WF STRPIRT SRI’Y
SR TCAAIFORA A T4 |

Explain the merits and demerits of
large-scale industries in the context of
developing economy.

TR (PR 6 J2e-TEA BOM TR
¥ BCIE W 10|

Explain the limitations of gross
domestic product and per capita income
as indicators of economic development.
AT T caR wifRen R g v
T AF TS S et o #4940 |
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